@ \b@k'@(lfY\l(ﬁ\Q \X(’Y\Q Cb/'uotd(q{_(‘cv JRAF\(’_‘H‘OV\ < W(f\ 0e
groph S 6[ ven

The verkex 12 (3, -11) and “the Y- intercent s ~2
P(X) = ?‘wa %(mp\{t@;j Yhe oNGLoe

/A
\%"’5&‘ Mmon  hog avou loble a 200 Yords oF F@ne(‘ns and Wishes
Jo enclose q f‘ec%qﬂﬁqlqr areq -

Y Ex?ﬂpSS_ \H\ﬁ orea [ of Fhe (‘eciomﬂle os @ funefion oF
W OF e “(\GC“‘-‘OLHS[Q - A (\/U):

@FOV Whot Value of W (g dhe areq /@w}}é’ﬁ

W = k———-_‘YOxrds,%a\mph‘sz Your ans wer

Vwhat 18 the moxipauwm areq ?
A= — Zauare (jéirdso S(‘mp'\\p\j Yo NS W

S




